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1. The controller for Haley Corporation is concerned about certain business fransactions that the company experienced during
2022. The controller, after discussing these matters with various individuals, has come to you for advice. The transactions at
issue are presented below.

® The company has decided to switch from the direct write-off method in accounting for bad debt expense to the
percentage-of-receivables approach. Assume that Haley Corporation has recognized bad debt expense as the receivables
have actually become uncollectible in the following way:

2021 2022
From 2021 sales 31,800 12,000
From 2022 sales 45,000

The controller estimates that an additional $65,400 will be charged off in 2023: $11,400 applicable to 2021 sales and
$54,000 to 2022 sales.

® Inventory has been shipped on consignment. These transactions have been recorded as ordinary sales and billed as such on
account. At December 31, 2022, inventory billed and in the hands of consignees amounted to $400,000. The percentage
markup on selling price is 20%. Assume that consigned inventory is sold the following year. The company uses the

perpetual inventory system.
Instructions
Assume that Haley Corporation reported net income of $1,000,000 for 2022. What is the corrected net income after

reviewing the above transactions?

2. Howard Corp. sponsors a defined-benefit pension plan for its employees. On January 1, 2022, the following balances

related to this plan.

Plan assets (fair value) £450,000
Defined benefit obligation 600,000
Pension asset/liability 150,000 Cr.

As a result of the operation of the plan during 2022, the actuary provided the following additional data at December 31,
2022.

Service cost for 2022 £ 75,000
Actual return on plan assets in 2022 45,000
Past service cost, effective Jan. 1 120,000
Contributions in 2022 115,000
Benefits paid retirees in 2022 70,000
Discount rate 8%

Average remaining service life of active employees 10 years

Instructions
What is the pension expense for Howard Corp. for the year 2022?
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3. During 2022, a construction company changed from the cost-recovery method to the percentage-of-completion method for
accounting purposes but not for tax purposes. Gross profit figures under both methods for the past three years appear below:

Cost-Recovery Percentage-of-Completion
2020 $ 475,000 $ 800,000
2021 625,000 950,000
2022 700,000 1.050,000
$1,800,000 $2,800,000

Assuming an income tax rate of 40% for all years, the effect of this accounting change on prior periods should be

reported by a credit of what amount on the 2022 retained earnings statement?

4. The following information was taken from the books and records of Ludwick, Inc.:
® Netincome € 280,000
@ (apital structure:
a. Convertible 6% bonds. Each of the 300, €1,000 bonds is convertible
into 50 ordinary shares at the present date and for the next

10 years. 300,000
b. €10 par, 200,000 ordinary shares issued and outstanding
~ during the entire year. 2,000,000
¢. Share warrants outstanding to buy 16,000 ordinary shares
at €20 per share.
®  Other information:
a. Bonds converted during the year None
b. Income tax rate 30%
c. Convertible debt was outstanding the entire year
d. Average market price per share of common stock during the year €32
e. Warrants were outstanding the entire year
f. Warrants exercised during the year None
Instructions

Compute diluted earnings per share.

5. Halvor Corporation is having financial difficulty and therefore has asked Manhattan National Bank to restructure its €3
million note outstanding. The present note has 3 years remaining and pays a current rate of interest of 10%. The present
market rate for a loan of this nature is 12%. The note was issued at its face value.Manhattan National Bank agrees to modify
the terms of the note, indicating that Halvor does not have to pay interest on the note over the 3-year period.

Instructions
Compute the gain on the extinguishment of debt that Halvor would make for the restructuring.
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